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4 triangle is an equiangular triangle.

Attempt ......... questions

The symbol used for line AB is ....... :

a) AB b) 4B
¢c) AB d) 4B

triangle has also equal angles.
a) Isosceles b) Scalene

c) Rightangle d) Equilateral

A triangle can have only ;
a) Rightangle b) Acute angl

c) Supplementary Angles
d) None of these

a) Rightangled ©b) Scalene

c) Equilateral d) Isosceles

A parallelogram is divided by its

diagonals into triangles of equal areas:

a) 1 b) 2

c) 3 d) 4

The symbol of parallelogram is:
a) II b) Il gm
c) gmll ) =

In parallelogram
a) Opposite sides

b) Opposite angles

c¢) Opposite sides and angles
d) Diagonals

argseongruent:

8 A parallelogram has vertices.
a) 4 b) 2
c) 1 d) 6
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